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Developed by Mikkel Duif (2019)
Source: MNIST Database
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from tensorflow import keras

from tensorflow.keras import layers

mode| = keras.Sequential([
layers.Dense(512, activation="relu"),
layers.Dense(10, activation="softmax")
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metrics

model . compile(optimizer
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model . fit(train_images, train_labels, epochs=5, batch_size=128)
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test_digits = test_images[0:10]
predictions = model.predict(test_digits)
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test_loss, test_acc = model.evaluate(test_images, test_labels)
print(f"test_acc: {test_acc}")
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keras. layers.Dense(10, activation="softmax")
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relu(W « x + b)
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